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SSC TEST  SERIES -4 

Part-I. 

GENERAL INTELLIGENCE AND REASONING 

¼lkekU; cqf)eRrk ,ao rdZ”kfDr½ 

1.  After writing the letters of the word GUPTACLASSES in 
the reverse order, which will be the third letter to the 

left of the 6th letter from the right? 

 'kCn GUPTACLASSES dks fjolZ Øe esa fy[kus ij nk,a ls 6Bsa 

v{kj ds ck,a ls rhljk v{kj D;k gksxk\ 

(A) R   (B) C      

(C) S  (D) A 

Directions (2-6) : In each of the following questions, select the 

related letter / word/ figure/ number from the given alternatives. 

fuEu iz'uksa esa ls izR;sd iz'u esa fn, fodYiksa esa ls lEcfU/kr 

v{kj@'kCn@vkÑfr@ la[;k dks pqfu,A 

2.  Pineapple : ? : : Orange : Florida 

 vukukl % \ % % larjk % ÝyksfjMk 

 (A) Dole/Mksy  (B) Hawaii/gokbZ 

 (C) Canada/dukMk  (D) Mango/vke 

3.  2 : 9 : : 28 : ? 

 (A) 37  (B) 47  

 (C) 57  (D) 65 

4.  MAT : NCW : : APE : ? 

 (A) CRH  (B) BRH  

 (C) BSG  (D) BSH 

5.  68 : 18 : : 72 : ? 

 (A) 23  (B) 45  

 (C) 42  (D) 28 

6.  4 : 18 : 5 : ? 

 (A) 96  (B) 21  

 (C) 83  (D) 78 

Directions (7-9) : Find the odd word/letter/ number from the given 

alternatives. 

funsZ'k 7&9% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@ la[;k dks 

pqfu, A 

7.  (A) 1023-1046  (B) 1169-1192  

 (C) 1494-1517  (D) 1899-1921 

8. (A) DWHS  (B) BYDW   

 (C) CWFS  (D) EVJQ 

9.  (A) BFCGD  (B) LPMQN  

 (C) NROSP  (D) YCDZA 

10. In a row of boys, A is fifteenth from the left and B is 

fourth from the right. There are three boys between A 
and B. C is just left of A. What is C's position from the 

right? 

yM+dksa dh ,d iafDr esa] A ck,a ls iUnzgosa LFkku ij gS vkSj B 
nk,a ls pkSFks LFkku ij gSA A vkSj B ds chp esa rhu yM+ds gSA 

C, A ds ,dne ck,a esa gSA C dk nk,a ls D;k LFkku gS\ 

 (A) 9th  (B) 10th  

 (C) 12th  (D) 13th 

11. Find out the alternative figure which contains question 
figure as it part. 

 ml mÙkj&vkd̀fr dks pqfu, ftlesa iz'u&vkd̀fr fufgr gSA 

 Question figure: 

 
 Answer Figure  

 
                 (a)        (b)        (c)        (d) 

12.  How many squares are there in the given figure? 

 fn, x, vkd̀fr esa fdrus oxZ gSa\ 

 

 (A) 8  (B) 12  

 (C) 15  (D) 18 

13.  Of the five members standing in a row, R is to the right 
of U but to the left of Q. P is to the right of Q but to 
the left of S. Which member is in the middle of the 

row? 

 fdlh iafDr esa [kM+s ik¡p O;fDr;ksa eas] R, U ds ds nk,a rjQ gS] 

ysfdu Q ds ck,a rjQ gSA P, Q ds nk,a rjQ] ysfdu S ds ck,a 

rjQ gSA iafDr ds eè; esa [kM+k O;fDr dkSu gS\ 

 (A) R  (B) Q  

 (C) P  (D) S 

14.  Which one set of letters when sequentially placed at 
the gaps in the given letter series shall complete it? 

 nh xbZ v{kj&Jà[kyk ds [kkyh LFkkuksa ij Øe ls j[kus ij 

fuEufyf[kr esa ls dkSu&lk v{kj&lsV mls iwjk djsxk\ 

 __ nmmn __ mmnn __ mnnm __ 

 (A) nmmn  (B) mnnm  

 (C) nnmm  (D) nmnm 

15. A monkey climb 30 feet at the beginning of each hour 
and rests for a while when he slips back 20 feet while 

resting before he again starts climbing in the beginning 

of the next hour. If he begins his ascent at 8 : 00 am, 
then at what time will he first touch a flag at 120 feet 

from the ground ? 

 ,d cUnj izR;sd ?k.Vs esa 30 QhV p<+rk gS vkSj FkksM+h nsj 

vkjke djrk gSA vxys ?k.Vs esa p<+kbZ 'kq: djus ls igys 

vkjke djus ds nkSjku og 20 QhV uhps fQly tkrk gSA vxj 

og lqcg 8 cts p<+kbZ 'kq: djrk gS] rks tehu ls 120 eh- 

Å¡pkbZ ds >aMs dks og fdl le; igyh ckj Li'kZ djsxk\ 

 (A) 4 : 00 pm  (B) 5 : 00 pm  
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 (C) 6 : 00 pm  (D) None of these 

16. If ASSISTANT = 36, MANAGER = 34 and STAFF = 14, 
then DIRECTOR = ? 

;fn ASSISTANT = 36, MANAGER = 34 vkSj STAFF = 

14, rks DIRECTOR = ? 

 (A) 85  (B) 62  

 (C) 35  (D) 80 

17. Some equations are solved on the basis of a certain 
system. On that basis, find out the correct answer from 
the four alternatives for the unsolved equation 

 dqN lehdj.k ,d fuf'pr iz.kkyh ds vk/kj ij gy fd, x, 

gSA blds vk/kj ij vulqy>h lehdj.k ds fy, pkj fodYiksa 

ls lgh mÙkj dk irk yxk,aA 

 X = One (8) Three, Y = Three (16) Five, Z = Six (?) 

Seven 

 (A) 23  (B) 13    

 (C) 19  (D) 17 

Directions (18): In the given series, some letter/number/digit is 

missing. Choose the appropriate option. 

funsZ'k 18 fn, x, vuqØe esa dqN v{kj@la[;k@vad yqIr gSA 

mfpr fodYi dk p;u djsaA 

18. 13, 32, 24, 43, 35, ?, 46, 65, 57, 76 

 (A) 45  (B) 52  

 (C) 54  (D) 55 

19. Statement: dFku% 

 All car are bus. All bus are train. 

 lHkh dkj cl gSaA lHkh cl Vªsu gSaA 

 Conclusions: 

 I. Some train are car. dqN Vªsu dkj gSaA 

 II. Some bus are train. dqN cl Vªsu gSaA 

 III. All car are trains. lHkh dkj Vªsusa gSA 

 (A) All follows/lHkh vuqlj.k djrs gSaA 

 (B) I and II follows/I rFkk II vuqlj.k djrs gSaA 

 (C) II and III follows/II rFkk III vuqlj.k djrs gSaA 

 (D) III and I follows/III rFkk I vuqlj.k djrs gSaA 

Directions (20): From the given options choose the missing 

number. 

fn, x, fodYiksa esa ls yqIr la[;k Kkr dhft,A 

 

 (A) 22  (B) 30  

 (C) 32  (D) 40 

21. If 16 ÷ 2 = 14, 18 – 3 = 54, 14 × 2 = 16 and 96 + 4 = 
24 then 18 – 5 + 3 × 2 ÷ 24 = ? is equal to: 

 ;fn 16 ÷ 2 = 14, 18 – 3 = 54, 14 × 2 = 16 vkSj 96 + 4 

= 24 rks 18 – 5 + 3 × 2 ÷ 24 = ? fdlds cjkcj gS\ 

 (A) 16  (B) 8  

 (C) 12  (D) 24 

22. Find the missing number. 

yqIr la[;k Kkr dhft,A 

 

 (A) 221  (B) 231  

 (C) 211  (D) 201 

23. Which one of the following diagrams represents the 
correct relationship among Planet, Earth and Sun? 

 fuEufyf[kr esa ls dkSu&lh vkd`fr xzg] ìFoh rFkk lw;Z ds chp 

lEcU/k dks n'kkZrh gS\ 

 

            (a)        (b)          (c)        (d)  

24. At 6 : 15, the hour hand the minute hand of a clock 
form an angle of 

 6 ctdj 15 feuV ij ?kM+h ds ?k.Vs rFkk feuV dh lqbZ vkil 

esa fdrus dk dks.k cukrh gS\ 

 (A) 90°  (B) 91.5°  

 (C) 97.5°  (D) 94.5° 

25. A word is represented by only one set of numbers as 
given in any one of the alternatives. The sets of 

numbers given in the alternatives are represented by 
two classes of letters as in two matrices given below. 

The columns and rows of Matrix-I are numbered from 

0 to 4 and that of Matrix- II are numbered from 5 to 9. 
A letter from these matrices can be represented first by 

its row and next by its column. E.g., ‘A’ can be 
represented by 02, 11, 20 etc., and ‘W’ can be 

represented by 58, 79, 97 etc. Similarly, you have to 

identify the set for the word ‘DICE’. 

 ,d 'kCn dsoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk fd 

fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn, x, 

la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd uhps 

fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr dh 

la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu vkO;wgksa 

ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk la[;kvksa 

}kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy,] ‘A’ dks 02, 11, 

20 vkfn }kjk n'kkZ;k tk ldrk gS rFkk ‘W’ dks 58, 79, 97 

vkfn }kjk n'kkZ;k tk ldrk gSA fn;s x, 'kCn ‘DICE’ ds fy, 

lewg dks igpkuuk gSA 

Matrix-I                             Matrix –II 

 

 (A) 75, 77, 67, 10  (B) 69, 88, 86, 23  

 (C) 87, 59, 42, 23  (D) 69, 65, 99, 10 
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Part-II. 

QUANTITATIVE APTITUDE 

¼Xkf.krh; vfHk;ksX;rk½ 

26  In the given figure if each of the outer circles have 

radii 'R', then the radius of the inner circle will be : 

 fn, x, fp= esa, ;fn lHkh ckg~; oÙ̀kksa dh f=T;k ‘R’ gS rks 

vkarfjd o`Ùk dh f=T;k Kkr dhft, 

 

 (a) 
2

( 2 1)R
   (b) 

1
R

2
   

 (c) ( 2 1)R   (d) 2R   

27.  A contractor undertakes to dig a canal 12 km long in 
350 days and employs 45 men. After 200 days he finds 

that only 4.5 km of the canal has been completed. Find 
the number of extra men he must employ to finish the 

work on time. 

 ,d Bsdsnkj 12 fdeh- yach ugj 350 fnuksa esas [kksnus ds fy,  

45 vknfe;ksa dks dke ij yxkrk gSA 200 fnuksa ckn og ikrk gS 
fd ugj dk dsoy 4.5 fdeh- gh iwjk gks ik;k gSA dke dks 

le; ij iwjk djus ds fy, mls vkSj fdrus vknfe;ksa dks dke 

ij yxkuk gksxk ? 

(A) 45 men  (B) 55 men  

(C) 65 men  (D) 75 men 

28.  Two medians AD and BE of ABC intersect at G at 

right angle. If AD = 9cm and BE = 6 cm, then the 
length of BD, (in cm) is – 

 ABC  dh nks ekf/;dk,¡ AD  rFkk BE,G  ij ledks.k izfrPNsn 

djrh gSa ;fn AD 9  lseh rFkk BE 6  lseh gks] rks BD  dh 

yEckbZ ¼lsehŒesa½ Kkr djsa  

 (A) 10 cm  (B) 6 cm  

 (C) 5 cm  (D) 3 cm 

29.  In the given figure, A + B + C + D + E + F = 

, A + B + C + D + E + F = 

 
 (A) 360°  (B) 720°  

 (C) 180°  (D) 300° 

30.  In a trapezium ABCD, if AB || CD, then AC 2 + BD 2   is 
equal to : 

 ,d leyac prqHkqZt ABCD esa, ;fn AB || CD, rks 
2 2AC BD  

fdl ds cjkcj gS ? 

 (A) BC 2
 + AD 2

 + 2AB.CD (B) AB 2
 + CD 2

 + 2AD.BC 

 (C) AB 2
 + CD 2

 + 2AB.CD (D) BC 2
 + AD 2

 + 2BC.AD 

31.  If pq qr rp 0    then, find the value of 

 
2 2 2

2 2 2

p q r

p qr q rp r pq
 

  

  

 (a) 0  (b) 1  

 (c) -1  (d) 31 

32. IF D, E and F are the mid points of BC, CA and AB 
respectively of the  ABC then the ratio of area of the 

parallelogram DEFB and are of the trapezium CAFD is: 

 ;fn  ABC ds BC, CA vkSj AB ds Øe”k % e/; fcanq D,E vkSj F gS 

rks lekarj prqHkZqt DEFB ds {ks=QYk vkSj leyac CAFD ds 

{ks=Qy dk vuqikr D;k gS & 

 (a) 1:3 (b) 1:2(c) 3:4(d) 2:3 

33.If Sec  + tan = p, (p  0) then sec   is equal to 

 ;fn  sec   + tan  = p, (p  0) gS rks sec  fdlds rqY; gS& 

 (a) 1
p ,p 0

p

 
  

 
  (b) 

1 1
(p ),p 0

2 p
    

 (c) 
1

2(p ),p 0
p

     (d) 
1

(p ),p 0
p

    

34. A’s 2 days work is equal to B’s days work. If A can 
complete the work in 8 days then to complete the work 

B will take: 

 A dk 2 fnuksa dk dk;Z B ds 3 fnuksa ds dk;Z ds cjkcj gSA 

;fn A ml dk;Z dks 8 fnuksa esa iwjk djrk gS rks B ml dk;Z 

dks fdrus fnuksa eas iwjk djsxk\ 

 (a) 14 days/fnu (b) 15 days/fnu 

 (c) 16 days/ fnu (d) 12 days/ fnu 

35. If  p=99 then the value of   

 p(p 2 +3p +3) 

 (a) 999999  (b) 988899   

 (c) 989898 (d) 998889 

36. The area of the triangle formed by the graphs of the 
equations x= 0, 2x+3y = 6 and x+y =3 is lehdj.k 

xzkQksa ls cus f=Hkqt dk {ks=Qy gS&

 (a) 3 sq. unit/ oxZ ;wfuV (b) 1
1

2
sq. unit/ oxZ ;wfuV 

 (c) 1 sq. unit/ oxZ ;wfuV (d) 4
1

2
 sq. unit/ oxZ ;wfuV 

37. If 4 men or 8 women can do a piece of work in 15 
dyas, in how many days can 6 men and 12 women do 

the same piece of work ? 

 ;fn 4 iq:’k vFkok 8 fL=;ksa fdlh dk;Z dks 15 fnuksa esa dj 

ldrh gSA rks 6 iq:’k vkSj 12 fL=;kWa mlh dk;Z dks fdrus 

fnuksa eas dj ldrs gS\ 

 (a) 45 days/ fnu (b) 20 days / fnu 

 (c) 5 days/ fnu (d) 30 days/ fnu 
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38. A train runs at an average speed of 75 km/hr , If the 
distance to be covered is 1050 kms. How long will the 

train take to cover it? 

 ,d jsyxkM+h 75 dh-eh- izfr ?kaVk dh vkSlr xfr ls pyrh gSA 

;fn mls 1050 dh-eh dh nwjh r; djuh gSA rks bl nwjh dks 

fdrus le; esa r; djsxh\ 

 (a) 13 hrs  (b) 12 hrs  

 (c) 14 hrs (d) 15 hrs  

39.The minimum value of 2 2 2sin 3cos  is 

  2 2 2sin 3cos    

 (a)1  (b) 3  

 (c) 2 (d) 4 

40.  A can write 75 pages in 25 hrs. A and B together can 
write 135 pages in 27 hrs. In what time can B write 42 

pages? 

 A 25 ?kaVs esa 75 ist fy[k ldrk gS tcfd A vkSj B lkFk 27 
?kaVs esa 135 ist fy[k ldrs gSA B dks 42 ist fy[kus esa fdruk 

le; yxsxk ? 

 (a) 17 hrs.  (b) 19 hrs.  

 (c) 21 hrs.  (d) 23 hrs. 

41.  How much tea at Rs. 4 a kg should be added to 15 kg 

of tea at Rs 10 a kg so that the mixture be worth Rs. 
6.50 a kg? 

 Rs. 10 izfr fdxzk- okyh 15 fdxzk- pk; esa Rs. 4 izfr fdxzkokyh 

fdruh pk; feykbZ tk, rkfd feJ.k dh dher Rs. 6.50 izfr 

fdxzk- gks \ 

 (A) 15 kg  (B) 35 kg  

 (C) 25 kg  (D) 21 kg 

42.  A train travelling at 48 km/hr crosses an another train 
half of its length and travelling in opposite direction at 

42 km/hr in 12 seconds. It also passes a railway 
platform in 45 seconds. The length of the railway 

platform is 

 48 fdeh-@?kaVk dh pky ls pyus okyh ,d jsyxkM+h] blls 

vk/kh yEckbZ okyh rFkk foijhr fn'kk esa 42 fdeh-@?kaVk dh 

pky ls pyus okyh ,d vU; jsyxkM+h dks 12 lsds.M esa ikj 

djrh gSA ;gh jsyxkM+h ,d jsyos IysVQkWeZ dks 45 lsds.M esa 

ikj djrh gSA IysVQkWeZ dh yEckbZ D;k gS \ 

 (a) 200 m  (b) 300 m  

 (c) 350 m  (d) 400 m 

43.IF A and B are in the ratio 4: 5 and the difference of 
their squares is 81, what is the value of A? 

 ;fn A vkSj B dk vuqikr 4 % 5 gS vkSj muds oxksZ dk vUrj  

81 gS rks A dk eku fdruk gS\ 

 (a) 36  (b) 15        

 (c) 45 (d) 12 

44. What is the arithmetic mean of first 20 odd natural 
numbers? 

 izFke 20 fo’ke izkd̀frd la[;kvksa dk lekarj ek/; D;k gS\ 

 (a) 17           (b) 19  

 (c) 22 (d) 20  

45. A train 180 mts long is running at a speed of 90 km/h. 
How long will it take to pass a post? 

 ,d 180 eh- yEch jsyxkM+h 90 dh- eh izfr ?kaVk dh xfr ls 

py jgh gSA ,d iksLV ls xqtjus esa og ftruk le; ysxh\ 

 (a) 8.2 secs  (b) 7.8 secs   

 (c) 8 secs (d) 7.2 secs 

Directions In question number 46 to 48, the pie-chart given 
here shows expenditure incurred by a family on various 

items and their savings. Study the chart and answer the 
questions based on the pie-chart. 

bl ikbZ&pkVZ esa ,d ifjokj }kjk fofHkUUk inksa ij fd;k x;k [kpZ 

vkSj mudh cpr dks n”kkZ;k x;k gSA pkVZ dk v/;;u djs vkSj 

ikbZ&pkVZ ij vk/kkfjr iz”uksa dk mRrj nsA 

Food

Hkkstu

Education

f”k{kk

Others

vU;

Savings

cpr
Housing

edku

Cloth

oL=

20º

120º

70º

36º

60º

54º

 
46. If the monthly income is Rs.36000 then the yearly savings is: 

 ;fn ekfld vk; Rs 36000 gS rks okf’kZd cpr gS& 

 (a) Rs. 72000 (b) Rs. 60000 

 (c) Rs. 74000 (d) Rs. 70000  

47. If the expenditure on education is Rs. 1600 more than 
that of housing then the expenditure on food is: 

 ;fn f”k{kk ij [kpZ edku [kpZ ls :- 1600 vf/kd gS rks Hkkstu 

[kpZ gS& 

 (a) Rs. 6000  (b) Rs. 12000  

 (c) Rs. 7000 (d) Rs. 3333  

48. The ratio of expenditure on food to savings is: 

 Hkkstu [kpZ vkSj cpr dk vuqikr gS&  

 (a) 2 :1 (b) 3:1  

 (c) 3:2 (d) 10: 9 

49.The average marks obtained by a student in 6 subject is 
88. On subsequent verification it was found that the 

marks obtained by him in a subject was wrongly copied 
as 86 instead of 68. The correct average of the marks 

obtained by him is- 

 fdlh fo|kFkhZ dks 6 fo’k;ksa esa izkIr gq, vkSlr vad 88 gSA ckn 

esa lR;kiu djus ls ;g irk pyk fd ,d fo’k; esa mlds vad 

dks xyrh ls 68 ds LFkku ij 86 fy[k fn;k x;k A mls izkIr 

vadks dk lgh vkSlr gS& 

 (a) 85             (b) 87  

 (c) 84  (d) 86 

50.  Find the area of the shaded region if the radius of each 
of the circle is 1cm. 

 ;fn izR;sd oR̀r dh f=T;k 1 cm gS rks Nk;kafdr Hkkx dk 

{ks=Qy Kkr dhft, % 
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Part-III. 

GENERAL AWARENESS 

¼LkkekU; tkudkjh½ 

51.  Permanent Revenue Settlement of Bengal was 

introduced by 

 caxky esa jktLo dk LFkk;h cankscLr fdlus ykxw fd;k Fkk\ 

 (A) Clive/Dykbo (B) Hastings/gsfLVaXl 

 (C) Wellesley/oSysLys (D) Cornwallis/dkuZokfyl 

52. World Autism Awareness Day is observed on which of 

the following dates ? 

 fo'o vkWfVTe tkx:drk fnol fuEufyf[kr esa ls fdl fnu 

euk;k tkrk gS\ 

 (A) April 2 (B) March 30 
 (C) April 3 (D) March 31 
53. The objective resolution was unanimously adopted by 

the constituent assembly on 

 mís'; ladYi loZlEefr ls lafo/ku lHkk }kjk dc viuk;k 

x;k Fkk\ 

 (A) 22 January 1947 (B) 26 November 1946  

 (C) 1 October 1948 (D) None of these 
54. Who was the first female to win the top pritzker 

architecture prize? 

 mÙke fizRtdj okLrqdyk iqjLdkj thrus okyh igyh efgyk 

dkSu Fkh\ 

 (A) Zaha Hadid/tkgk gnhn 

 (B) Alejandro Aravena/,ystkanzks vjosuk 

 (C) Ryue Nishizawa/j;s fuf'ktok 

 (D) Kazuyo Sejima/dtq;ks lsftek 

55.  The eqauator cuts through which of the following 

islands? 

 fuEufyf[kr esa ls fdl }hi ls Hkweèk; js[kk xqtjrh gSa\ 

 (A) Madagascar/esMkxkLdj (B) Tasmania/rLekfu;k 

 (C) Java/tkok (D) Borneo/cksfuZ;ks 

56.  Which theory is generally included under micro 

economics ? 

 lw{e vFkZ'kkL= ds rgr fdl fl)kar ds lkekU;r% 'kkfey fd;k 

x;k gSa\ 

 (A) Price Theory/ewY; fl)kar 

 (B) Income Theory/vk; fl)kar 

 (C) Employment Theory/jkstxkj fl)kar 

 (D) None of the above/mijksDr esa ls dksbZ ugha 

57. Singhbhum District is famous for flagHkw ftyk fdlds fy, 

izfl) gSa\ 

 (A) Coal/dks;yk (B) Iron/yksgk 

 (C) Copper/rkack (D) Aluminium/,Y;wfefu;e 

58. When ice melts in a beaker of water, the level of water 

in beaker till 

 tc cQZ ikuh ds crZu esa fi?kyrh gS] crZu esa ikuh dk Lrj& 

 (A)  increases/c<+rk gSA  

 (B)  decreases/de gksrk gSA 

 (C)  remains same/leku jgrk gSA 

 (D) first increases then decreases/igys c<+rk gS fQj 

?kVrk gSA 

59.  What does SDLC mean in Networking protocol? 

 usVofdZax izksVksdkWy esa SDLC dk vFkZ gS& 

 (A) Software Data Link Control 

 (B) Synchronous Data Link Control 

 (C) Software Development Life Cycle 

 (D) Synchronous Data Development Cycle 

60.  A sprayer works on the principle of- 

 Lizs;j fdl fl)kar ij dke djrk gS\ 

 (A) Newton  (B) Archimedes  

 (C) Boyle  (D) Pascal 
61. Cultivation of wheat requires xsagw¡ dh [ksrh ds fy, 

vko';d gS& 

(A) moderate temperature and heavy rains/eè;e 

rkieku rFkk Hkkjh o"kkZ 

(B) humid temperature and heavy rains/vknzZ rkieku rFkk 

Hkkjh o"kkZ 

(C) humid temperature and moderate rains/vknzZ rkieku 

rFkk eè;e o"kkZ 

(D) moderate temperature and moderate rains/eè;e 

rkieku rFkk eè;e o"kkZ 

62. Which one of the following states produces the 

maximum maganese in India? 

 fuEufyf[kr esa ls dkSu&lk jkT; Hkkjr esa lcls vf/d eSaxuht 

iSnk djrk gSa\ 

 (A) Madhya Pradesh/eè; izns'k  

 (B) Andhra Pradesh/vka/kz izns'k 

 (C) Uttar Pradesh/mÙkj izns'k (D) Orissa/mM+hlk 

63. New Britain and New Ireland are parts of- 

 U;w fczVsu rFkk U;w vk;jyS.M fuEufyf[kr esa ls fdl ns'k dk 

Hkkx gS\ 

 (A) USA  (B) Canada 

 (C) Australia (D) Papua New Guinea 

64. Chemical which causes bone cancer and degeneration 

of tissue is  

 dkSu&lk jlk;u] gfM~M;ksa esa dSalj vkSj ÅÙkd ds voufr dk 

dkj.k gSA 

 (A) I-131  (B) Ca-40  

 (C) I-127  (D) Str-90 

65.  Which of the following states was first to adopt the 
Panchayati Raj? 

 fuEufyf[kr esa ls fdl jkT; us lcls igys iapk;rh jkt 

viuk;k Fkk\ 
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 (A) Andhra Pradesh  (B) Bihar  

 (C) Gujrat  (D) Rajasthan 
66. Megasporangium is equivalent to 

 eSxLiksjkafxe cjkcj gS& 

 (A) Embryo sac/Hkzw.kdks"k  (B) Fruit/Qy 

 (C) Nucellus/ukfHkd  (D) Ovule/chtkaM 

67. Daranghati Wildlife Sanctuary is in 

 nkj?kkVh oU;tho vHk;kj.; gS& 

 (A) Solan/lksyu   (B) Shimla/f'keyk 

 (C) Sirmaur/fljekSj  (D) Kullu/dqYyw 

68.  Chernobyl disaster was caused by a 

 psjuksfcy vkink fdlds }kjk gqbZ Fkh& 

(A) Nuclear weapon accident/ijek.kq gfFk;kj nq?kZVuk 

 (B) Nuclear waste leak/ijek.kq vif'k"V fjlko 

 (C) Nuclear reactor accident/ijek.kq fj,DVj nq?kZVuk 

  (D) Nuclear test/ijek.kq ijh{k.k 

69. Who has given scarcity definition of economics ? 

 vFkZ'kkL= dh deh@vHkko dh ifjHkk"kk fdlus nh gS\ 

 (A) Adam Smith/,Me fLeFk (B) Marshall/ek'kZy 

 (C) Robbins/jkWfcUl (D) Robertson/jkWcVZlu 

70.The most convenient colour combination that can be 
used for vehicles running day and night is 

 lcls lqfo/ktud jax la;kstu tks fnu vkSj jkr pyus okys 

okguksa esa iz;ksx gksrk gSa\ 

 (A) orange and blue/larjh vkSj uhyk 

 (B) white and black/lQsn vkSj dkyk 

 (C) red and green/yky vkSj gjk 

 (D) yellow and blue/ihyk vkSj uhyk 

71.  Basement membrane is derived from______. 

 cslesaV f>Yyh fdlls mRiUu gqbZ gSa\ 

 (A)  Ectoderm/,DVksMeZ  

 (B)  Endoderm/,.MksMeZ 

 (C)  Epidermis/,fiMfeZl 

 (D) Epidermis and connective tissue/,fiMfeZl vkSj 

la;ksth ÅÙkd 

72.  The logo of eco-mark in India is– 

 Hkkjr esa i;kZoj.k fu'kku dk fpUg gS& 

 (A) Rising Sun/mxrk gqvk lw;Z 

 (B) Earthen Pot/feV~Vh dk crZu 

 (C) Lion/flag  

 (D) Wheatear/xsagw¡ dh ckyh 

73. The M.K.S unit of charge is- 

 M.K.S bdkbZ gS& 

 (A) Volt  (B) Ampere  

 (C) Watt  (D) Coulomb 

74. The first shore based, modern integrated steel plant in 

India is at- 

 Hkkjr dk lcls igyk rV vk/kfjr] vk/kqfud ,dhd`r bLikr 

la;a=k dgk¡ fLFkr gSa\ 

 (A) Salem/lsye  

 (B) Haldia/gfYn;k 

 (C) Mangalore/eSaxyksj  

 (D) Vishakhapatnam/fo'kk[kkiV~ue 

75.  Normal adult male has ______. 

 LoLFk O;Ld ekuo esa ______ gksrs gSaA 

 (A)  10 gm haemoglobin/100 gm blood/ 

  10 xzke gheksXyksfcu@10 xzke jDr 

 (B)  14 gm haemoglobin/100 gm blood/ 

  14 xzke gheksXyksfcu@10 xzke jDr 

 (C)  18 gm haemoglobin/100 gm blood/ 

  18 xzke gheksXyksfcu@10 xzke jDr 

 (D)  24 gm haemoglobin/100 gm blood/ 

  24 xzke gheksXyksfcu@10 xzke jDr 

Part-III. 

GENERAL AWARENESS 

¼vaxzsth Hkk’kk½ 
Direction: In Question nos. 76 to 78 some part of the sentences 

have errors and some are correct. Find out which part of a 

sentence has an error and blacken the oval [ ]   corresponding to 

the appropriate letter (A), (B), (C). If a sentence is free from error, 

blacken the oval corresponding to (D) in the Answer Sheet. 

76. I have criticise(A)/ the remarkable book (B)/ because 
I didn't benefit from reading it. (C)/ No error (d) 

77.  He was looking impatient (A)/ at the unwanted visitor 

(B)/ who showed no signs of leaving the room. (C)/ 
No error (D) 

78.  Just before the race (A)/ I asked him (B)/ whom he 

thought was going to win. (C)/ No error (D). 
Directions : In Question nos. 156 to 160, sentences given with 

blanks to be filled in with an appropriate word(s). Four alternatives 

are suggested for each question. Choose the correct alternative out 

of the four and indicate it by blackening the appropriate oval [ ]  in 

the Answer Sheet. 

79. The agenda for the meeting has ..... the notice. 

 (A) reflected  (B) effected  

 (C) affected  (D) expected 

80. Today students should be reconciled ........ the way 
things are changing. 

 (A) with  (B) to  

 (C) for  (D) at 
Directions: In question nos.161-165, out of the four alternatives, 

choose the one which can be substituted for the given 

words/sentence and choose the appropriate alternative which best 

expresser the sentences. 

81. To surround a place with the intention of capturing it 

 (A) Bivouac  (B) Besiege  

 (C) Invade  (D) Intern 

82. One who is opposed to intellectual progress 

 (A) Impostor  (B) Chaperon  

 (C) Prospector  (D) Obscurant 

83. A woman with dark brown hair 

 (A) Blonde  (B) Brunette  

 (C) Termagant  (D) Coiffure 
Direction: In Question nos. 84-86, four alternative are given for 

the underlined Idiom/ Phrase. Choose the alternative which best 

expresses the meaning of the Idiom/Phrase and mark it in the 

Answer Sheet. 

84. Weal and woe 

 (A) Ups and downs  (B) Joys and sorrows 

 (C) Whole-heartedly  (D) Under suspicion 
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85. At one's beck and call 

 (A) Enjoying oneself without caring for others 

 (B) To be always at one's service 

 (C) To be under one's subjugation 

 (D) To be in an advantageous position 

86. Rack and ruin 

 (A) Successful  (B) Debt  

 (C) Destroyed  (D) Ransacked 
Direction: In Question nos. 87 to 91, a sentence/ a part of the 

sentence is underlined. Below are given alternatives to the 

underlined part at (A), (B), (C) which may improve the sentence. 

Choose the correct alternative. In case  no improvement is needed 

your answer  is (D). Mark your answer in the Answer Sheet. 

87. The watchman was on alert all night. 

 (A) was on the alert (B) was off the alert 

 (C) was alert (D) No improvement 

88. I cannot say to you right now. We will discuss it 

tomorrow. 

 (A) demand  (B) expect  

 (C) explain  (D) No improvement 

89. Let's buy a new sari with annual bonus, can we ? 

 (A) shall we?  (B) could we?  

 (C) isn't it?  (D) No improvement 

90.  If you have studied hard, you would have got a first 

class. 

 (A) If you studied hard  

 (B) If you had studied hard 

 (C) If you would study hard  

 (D) No improvement 

91. We hurried to the door but nobody is there 

 (A) nobody was there  (B) nobody are there 

 (C) nobody were there  (D) No improvement 
92. Fuji's invention of supercomputer will be enable to 

make Japan supersede America in computer 

technology. 
(A) will make Japan  (B) will enable Japan 

(C) can make Japan  (D) No improvement 
Directions : In question nos. 93, out of the four alternatives, 

choose the one which best expresses the meaning of the given 

word. 

93. AUGUR 

 (A) Heal    (B) Hurt   

 (C) Signify    (D) Reform 
Directions: In question no. 93, choose the word opposite in 

meaning to the given word. 

94. BARBAROUS 

 (A) Improved  (B) Cordial  

 (C) Civilized  (D) Modified 
Directions: In question nos. 95, four words are given in each 

question, out of which only one word is spelt correctly. Find the 

word spelt correct and mark your answer in the Answer Sheet. 

95. (A) Assimilation  (B) Asimillation  

 (C) Assimillation  (D) Assimilotion 
Direction (96-100) : In these question you have a brief passage 

with five questions following the passage.Read the passage carefully 

and choose the best answer to each question out of the four 

alternatives. 

Passage 

What, one wonders, is the lowest common denominator of 

Indian culture today? The attractive Hema Malini? The 
songs of Vividh Bharti? Or the mouth-watering masala 

Dosa ? Delectable as these may be, each yields pride of 
place to that false symbol of a new era-the synthetic fiber. 

In less than twenty years, the nylon sari and the terylene 

shirt have swept the countryside, penetrated to the 
farthest corners of the land and persuaded every common 

man, woman and child that the key to success in the 
present day world lie in artificial fibers : glass nylon, crepe 

nylon, terry mixes, polyesters and what have you. More 
than the bicycles, the wrist watches or the transistor 

radios, synthetic clothes have come to represent the first 

step away from the village square. The village lass 
treasures, the flashy nylon sari in her trousseau most delay 

the village youth gets a great kick out of his cheap terrycot 
shift and trousers, the nearest he can approximate to the 

expensive synthetic sported by his wealthy city bread 

contemporaries and the Neo-rich craze for 'phoren' is 
nowhere more apparent than in the price that people will 

pay for smuggled. Stolen, begged borrowed second hand 
or thrown away synthetics. Alas, even the uniformity of 

nylon.  

96. The latest symbol of modernity for the rural people is 

 (A) The bicycle  (B) The wristwatch 

 (C) The transistor  (D) The synthetic cloth 

97. The term 'Neo-rich' means 

 (A) The aristocracy (B) The industrialists 

 (C) The newly rich people (D) The common people 

98. The tone of the passage is 

 (A) Tragic (B) Ironic  (C) Somber (D) Satiric 

99. The lowest common denominator of the Indian culture 

today is : 

 (A) Hema Malini  (B) Songs of Vividh Bharti 

 (C) Masala Dosa  (D) Synthetic fibre 

100. The synthetic fiber has 

 (A) always been popular in India 

 (B) become popular during the last twenty years 

 (C) never been popular in India 

 (D) been as popular as other kinds of fibre  

 

 


	Untitled

